

Ex-24(IV)

1. Solve the following quadratic equations;

a) $(x-2)(x-3)=0$

→ Soln,

$$(x-2)(x-3)=0$$

Either, $x-2=0$

$$\therefore x=0+2=2$$

Or,

$$x-3=0$$

$$\therefore x=0+3=3$$

$$\therefore x=2 \text{ or } 3.$$

b) $(x+1)(x-4)=0$

→ Soln,

$$(x+1)(x-4)=0$$

Either, $x+1=0 \therefore x=0-1=-1$

Or, $x-4=0 \therefore x=0+4=4$

$$\therefore x=-1 \text{ or } 4$$

$$c) (x-5)(x+3)=0$$

→ Soln,

Either, $x-5=0$

$$\therefore x=0+5=5$$

Or,

$$x+3=0$$

$$\therefore x=0-3=-3$$

$$\therefore x=5 \text{ or } -3$$

$$d) (x+1)(x+8)=0$$

→ Soln,

Either,

$$x+1=0$$

$$\therefore x=0-1=-1$$

Or,

$$x+8=0$$

$$\therefore x=0-8=-8$$

$$e) x(x-6)=0$$

→ Soln,

Either, $x=0$

Or, $x-6=0$

$$\therefore x=0+6=6$$

$$5x(x+2)=0$$

→ Soln

Either, $5x=0$

$$\therefore x = \frac{0}{5} = 0$$

Or, $x+2=0$

$$\therefore x = 0-2 = -2$$

2. Solve the following quadratic equations;

a) $x^2-4=0$

→ Soln

$$x^2-4=0$$

or, $(x)^2 - (2)^2 = 0$

or, $(x+2)(x-2)=0$

Either, $x+2=0$

$$\therefore x = 0-2 = -2$$

Or, $x-2=0$

$$\therefore x = 0+2 = 2$$

$$\therefore x = -2 \text{ or } 2$$

b) $x^2 - 36 = 0$

→ Soln,

$$x^2 - 36 = 0$$

$$\text{or, } (x)^2 - (6)^2 = 0$$

$$\text{or, } (x+6)(x-6) = 0$$

Either, $x+6 = 0$

$$\therefore x = 0 - 6 = -6$$

Or, $x-6 = 0$

$$\therefore x = 0 + 6 = 6$$

$$\therefore x = -6 \text{ or } 6$$

c) $x^2 - 100 = 0$

→ Soln,

$$x^2 - 100 = 0$$

$$\text{or, } (x)^2 - (10)^2 = 0$$

$$\text{or, } (x+10)(x-10) = 0$$

Either, $x+10 = 0 \therefore x = 0 - 10 = -10$

Or, $x-10 = 0 \therefore x = 0 + 10 = 10$

$$\therefore x = -10 \text{ or } 10$$

$$4x^2 - 25 = 0$$

→ Soln,

Here,

$$4x^2 - 25 = 0$$

$$\text{or, } (2x)^2 - (5)^2 = 0$$

$$\text{or, } (2x+5)(2x-5) = 0$$

$$\text{Either, } 2x+5=0$$

$$\text{or, } 2x = 0-5$$

$$\text{or, } 2x = -5$$

$$\text{or, } x = \frac{-5}{2}$$

$$\therefore x = \frac{-5}{2}$$

$$\text{Or, } 2x-5=0$$

$$\text{or, } 2x = 0+5 = 5$$

$$\therefore x = \frac{5}{2}$$

$$\therefore x = +\frac{5}{2} \text{ or } -\frac{5}{2}$$

e) $25x^2 - 16 = 0$

→ Soln,

$$25x^2 - 16 = 0$$

$$\text{or, } (5x)^2 - (4)^2 = 0$$

$$\text{or, } (5x+4)(5x-4) = 0$$

$$\text{Either, } 5x+4=0$$

$$\text{or, } 5x = 0 - 4 = -4$$

$$\text{or, } x = \frac{-4}{5}$$

$$\therefore x = \frac{-4}{5}$$

$$\text{Or, } 5x-4=0$$

$$\text{or, } 5x = 0 + 4$$

$$\text{or, } 5x = 4$$

$$\text{or, } x = \frac{4}{5}$$

$$\therefore x = 4/5$$

$$\therefore x = \frac{4}{5} \text{ or } \frac{-4}{5}$$

$$9 - 16x^2 = 0$$

Soln,

$$9 - 16x^2 = 0$$

$$\text{or, } (3)^2 - (4x)^2 = 0$$

$$\text{or, } (3+4x)(3-4x) = 0$$

$$\text{Either, } 3 + 4x = 0$$

$$\text{or, } 4x = 0 - 3 = -3$$

$$\text{or, } x = \frac{-3}{4}$$

$$\therefore x = \frac{-3}{4}$$

$$\text{Or, } 3 - 4x = 0$$

$$\text{or, } \cancel{3} - 0 = 4x$$

$$\text{or, } 3 = 4x$$

$$\text{or, } \frac{3}{4} = x$$

$$\therefore x = \frac{3}{4}$$

$$\therefore x = \frac{3}{4} \text{ or } -\frac{3}{4}$$

g) $5x^2 - 45 = 0$

→ Solⁿ

$$5x^2 - 45 = 0$$

$$\text{or, } 5(x^2 - 9) = 0$$

$$\text{or, } x^2 - 9 = \frac{0}{5}$$

$$\text{or, } x^2 - 9 = 0$$

$$\text{or, } (x)^2 - (3)^2 = 0$$

$$\text{or, } (x+3)(x-3) = 0$$

Either, $x+3=0$

$$\text{or, } x = 0-3$$

$$\therefore x = -3$$

Or, $x-3=0$

$$\text{or, } x = 0+3$$

$$\therefore x = 3$$

$$\therefore x = 3 \text{ or } -3.$$

h) $3x^2 - 75 = 0$

→ Soln

~~$$3x^2 - 75 = 0$$

$$\text{or, } 3(x^2 - 15) = 0$$

$$\text{or, } x^2 - 15 = 0/3$$

$$\text{or, } x^2 - 15 = 0$$

$$\text{or, } x =$$~~

$$\begin{array}{r} 3 \overline{) 75} 25 \\ - 61 \\ \hline 15 \\ - 15 \\ \hline 0 \end{array}$$

$$3x^2 - 75 = 0$$

$$\text{or, } 3(x^2 - 25) = 0$$

$$\text{or, } x^2 - 25 = \frac{0}{3}$$

$$\text{or, } x^2 - 25 = 0$$

$$\text{or, } (x)^2 - (5)^2 = 0$$

$$\text{or, } (x+5)(x-5) = 0$$

Either, $x+5=0$
 $\therefore x = -5$

or, $x-5=0$
 $\therefore x = 5$

$\therefore x = -5 \text{ or } +5$

3. Solve:

a) $x^2 - x = 0$

→ Solⁿ,

$$x^2 - x = 0$$

or, $x(x-1) = 0$

or

Either,

$$\therefore x = 0$$

Or,

$$x - 1 = 0$$

$$\therefore x = 1$$

$$\therefore x = 0 \text{ or } 1$$

b. $2x^2 - 6x = 0$

→ Solⁿ,

$$2x^2 - 6x = 0$$

or, ~~2x~~ $2x(x-3) = 0$

Either, $2x = 0$ $\therefore x = \frac{0}{2} = 0$

d)

Or, $x-3=0$
 $\therefore x=0+3=3$

c) $3x^2-15x=0$

$\rightarrow$ Soln,

$$3x^2-15x=0$$

or, $3x(x-5)=0$

Either,

$$3x=0$$

or, $x=\frac{0}{3}$

$\therefore x=0$

Or,

$$x-5=0$$

$\therefore x=0+5=5$

d) $2x^2+8x=0$

$\rightarrow$ Soln,

$$2x^2+8x=0$$

$$\text{or, } 2x(x+4)=0$$

Either,

$$2x=0$$

$$\therefore x = \frac{0}{2} = 0$$

Or,

$$x+4=0$$

$$\text{or, } x=0-4$$

$$\therefore x = -4$$

c) $4x^2+10x=0$

→ Soln,

$$4x^2+10x=0$$

$$\text{or, } 2x(2x+5)=0$$

Either,

$$2x=0$$

$$\therefore x = \frac{0}{2} = 0$$

Or,

$$2x+5=0$$

$$\text{or, } 2x = 0-5$$

or, $2x = -5$

or, $x = \frac{-5}{2}$

$\therefore x = \frac{-5}{2}$

$$5x^2 - 20x = 0$$

Soln

Here,

$$5x^2 - 20x = 0$$

or, $5x(x - 4) = 0$

Either, $5x = 0$

$\therefore x = \frac{0}{5} = 0$

Or, $x - 4 = 0$

$\therefore x = 0 + 4 = 4$

Solve the following quadratic equations:

$$x^2 - 4x + 3 = 0$$

Soln,

Here,

$$x^2 - 4x + 3 = 0$$

$$\text{or, } x^2 - (1+3)x + 3 = 0$$

$$\text{or, } x^2 - x - 3x + 3 = 0$$

$$\text{or, } x(x-1) - 3(x-1) = 0$$

$$\text{or, } (x-1)(x-3) = 0$$

Either,

$$(x-1) = 0$$

$$\therefore x = 1$$

Or,

$$x-3 = 0$$

$$\therefore x = 3$$

$$x^2 - 7x + 12 = 0$$

Soln,

$$x^2 - 7x + 12 = 0$$

$$\text{or, } x^2 - (3+4)x + 12 = 0$$

$$\text{or, } x^2 - 3x - 4x + 12 = 0$$

$$\text{or, } x(x-3) - 4(x-3) = 0$$

$$\text{or, } (x-3)(x-4) = 0$$

Either, $x-3=0$
 $\therefore x=3$

Or, $x-4=0$
 $\therefore x=4$

c) $x^2+10x+24=0$
 $\rightarrow$ Soln,

$$x^2+10x+24=0$$

or, $x^2+(6+4)x+24=0$

or, $x^2+6x+4x+24=0$

or, $x(x+6)+4(x+6)=0$

or, $(x+6)(x+4)=0$

Either,

$$x+6=0$$

or, $x=0-6$

$\therefore x=-6$

Or,

$$x+4=0$$

$\therefore x=-4$

d) $x^2+3x+2=0$

$\rightarrow$ Soln,

$$x^2+3x+2=0$$

or, $x^2+(2+1)x+2=0$

or, $x^2+2x+x+2=0$

or, $x(x+2)+1(x+2)=0$

$$\text{or, } (x+2)(x+1)=0$$

$$\text{Either, } x+2=0$$

$$\therefore x=-2$$

$$\text{Or, } x+1=0$$

$$\therefore x=-1$$

e) $x^2+9x+20=0$

→ Soln,

$$x^2+9x+20=0$$

$$\text{or, } x^2+(5+4)x+20=0$$

$$\text{or, } x^2+5x+4x+20=0$$

$$\text{or, } x(x+5)+4(x+5)=0$$

$$\text{or, } (x+5)(x+4)=0$$

20
1 20
2 10
4 5

$$\text{Either, } x+5=0$$

$$\therefore x=-5$$

$$\text{Or, } x+4=0$$

$$\therefore x=-4$$

f) $x^2+11x+30=0$

→ Soln,

$$x^2+11x+30=0$$

$$\text{or, } x^2+(5+6)x+30=0$$

30
1 30
2 15
3 10
5 6

$$\text{or, } x^2 + 5x + 6x + 30 = 0$$

$$\text{or, } x(x+5) + 6(x+5) = 0$$

$$\text{or, } (x+5)(x+6) = 0$$

Either,

$$x+5=0$$

$$\therefore x = -5$$

$$\text{Or, } x+6=0$$

$$\therefore x = -6$$

g) $x^2 + 5x - 36 = 0$

→ Solⁿ,

$$x^2 + 5x - 36 = 0$$

$$\text{or, } x^2 + (9-4)x - 36 = 0$$

$$\text{or, } x^2 + 9x - 4x - 36 = 0$$

$$\text{or, } x(x+9) - 4(x+9) = 0$$

$$\text{or, } (x+9)(x-4) = 0$$

$$\begin{array}{r|l} -36 & \\ \hline 1 & 36 \\ 2 & 18 \\ 3 & 12 \\ 4 & 9 \\ 6 & 6 \end{array}$$

Either,

$$x+9=0$$

$$\therefore x = -9$$

Or,

$$x-4=0$$

$$\therefore x = 4 \#$$

h) $x^2 + x = 42$

Soln,

$$x^2 + x = 42$$

$$\text{or, } x^2 + x - 42 = 0$$

$$\text{or, } x^2 + (7-6)x - 42 = 0$$

$$\text{or, } x^2 + 7x - 6x - 42 = 0$$

$$\text{or, } x(x+7) - 6(x+7) = 0$$

$$\text{or, } (x+7)(x-6) = 0$$

Either, $x+7=0$

$$\therefore x = -7$$

Or, $x-6=0$

$$\therefore x = 6$$

#

$$x^2 = 21 - 4x$$

Soln,

$$x^2 = 21 - 4x$$

$$\text{or, } x^2 + 4x - 21 = 0$$

$$\text{or, } x^2 + (7-3)x - 21 = 0$$

$$\text{or, } x^2 + 7x - 3x - 21 = 0$$

$$\text{or, } x(x+7) - 3(x+7) = 0$$

$$\text{or, } (x+7)(x-3) = 0$$

Either,

$$x+7=0$$

$$\therefore x = -7$$

or,

$$x-3=0$$

$$\therefore x = 3$$

j) $x^2 - 4x - 5 = 0$

→ Solⁿ, Here,

$$x^2 - 4x - 5 = 0$$

$$\text{or, } x^2 - (1-5)x - 5 = 0$$

$$\text{or, } x^2 - x + 5x - 5 = 0$$

$$\text{or, } \cancel{x} x(x-1) + 5(x-1) = 0$$

$$\text{or, } (x-1)(x+5) = 0$$

Either,

$$x-1=0$$

$$\therefore x = 0+1 = 1$$

Or,

$$x+5=0$$

$$\therefore x = 0-5 = -5$$

k) $x^2 - 7x - 60 = 0$

→ Solⁿ,
here,

$$x^2 - 7x - 60 = 0$$

$$\text{or, } x^2 - (\cancel{12}+5-12)x - 60 = 0$$

$$\text{or, } x^2 - 5x + 12x - 60 = 0$$

$$\text{or, } x(x-5) + 12(x-5) = 0$$

$$\text{or, } (x-5)(x+12) = 0$$

Either,

$$x-5=0$$

$$\therefore x = 0+5 = 5$$

Or,

$$x+12=0$$

$$\therefore x = 0-12 = -12$$

l. $x^2 = 9x + 22$

→ Solⁿ,

Here,

$$x^2 = 9x + 22$$

$$\text{or, } x^2 - 9x - 22 = 0$$

$$\text{or, } x^2 - (2-11)x - 22 = 0$$

$$\text{or, } x^2 - 2x + 11x - 22 = 0$$

$$\text{or, } x(x-2) + 11(x-2) = 0$$

$$\text{or, } (x-2)(x+11) = 0$$

Either,

$$x - 2 = 0$$

$$\therefore x = 0 + 2 = 2$$

Or,

$$x + 11 = 0$$

$$\therefore x = 0 - 11 = -11$$

m) $x^2 - x - 56 = 0$

→ Solⁿ, Here,

$$x^2 - x - 56 = 0$$

$$\text{or, } x^2 - (7-8)x - 56 = 0$$

$$\text{or, } x^2 - 7x + 8x - 56 = 0$$

$$\text{or, } x(x-7) + 8(x-7) = 0$$

$$\text{or, } (x-7)(x+8) = 0$$

Either, $x - 7 = 0$ $\therefore x = 0 + 7 = 7$	Or, $x + 8 = 0$ $\therefore x = 0 - 8 = -8$
---	--

n. $x^2 = 15 - 2x$

→ Soln, Here,

$$x^2 = 15 - 2x$$

or, $x^2 + 2x - 15 = 0$

or, $x^2 + (5 - 3)x - 15 = 0$

or, $x^2 + 5x - 3x - 15 = 0$

or, $x(x + 5) - 3(x + 5) = 0$

or, $(x + 5)(x - 3) = 0$

Either,

$$x + 5 = 0$$

$$\therefore x = 0 - 5 = -5$$

Or,

$$x - 3 = 0$$

$$\therefore x = 0 + 3 = 3$$

#

5. Solve the following quadratic equations:

a) $2x^2 - 5x + 2 = 0$

→ Soln,

Here,

$$2x^2 - 5x + 2 = 0$$

$$\text{or, } 2x^2 - (1+4)x + 2 = 0$$

$$\text{or, } 2x^2 - x - 4x + 2 = 0$$

$$\text{or, } x(2x-1) - 2(2x-1) = 0$$

$$\text{or, } x(2x-1) - 2(2x-1) = 0$$

$$\text{or, } (2x-1)(x-2) = 0$$

Either,

$$2x-1=0$$

$$\text{or, } 2x = 0+1=1$$

$$\therefore x = \frac{1}{2}$$

Or,

$$x-2=0$$

$$\therefore x = 0+2=2$$

b) $2x^2 - 9x + 9 = 0$

→ Soln,

$$2x^2 - 9x + 9 = 0$$

$$\text{or, } 2x^2 - (6+3)x + 9 = 0$$

$$\text{or, } 2x^2 - 6x - 3x + 9 = 0$$

$$\text{or, } 2x(x-3) - 3(x-3) = 0$$

$$\text{or, } (x-3)(2x-3) = 0$$

Either,
 $x-3=0$
 $\therefore x=0+3=3$

Or, $2x-3=0$
 or, $2x=0+3$
 $\therefore x=\frac{3}{2}$

c) $3x^2-13x+12=0$

→ Solⁿ,

$$3x^2-13x+12=0$$

or, $3x^2-(9+4)x+12=0$

or, $3x^2-9x-4x+12=0$

or, $3x(x-3)-4(x-3)=0$

or, $(x-3)(3x-4)=0$

Either, $x-3=0$

$\therefore x=0+3=3$

Or, $3x-4=0$

or, $3x=0+4=4$

$\therefore x=\frac{4}{3}$

$$\begin{array}{r} 12 \\ \times 3 \\ \hline 36 \end{array}$$

d. $2x^2+3x-9=0$

→ Solⁿ,

$$2x^2+3x-9=0$$

or, $2x^2+(6-3)x-9=0$

or, $2x^2+6x-3x-9=0$

or, $2x(x+3)-3(x+3)=0$

$$\text{or, } (x+3)(2x-3)=0$$

Either,

$$x+3=0$$

$$\therefore x=0-3=-3$$

$$\text{or, } 2x-3=0$$

$$\text{or, } 2x=0+3=3$$

$$\therefore x=\frac{3}{2}$$

e) $3x^2+2x-8=0$

→ Soln

$$3x^2+2x-8=0$$

$$\text{or, } 3x^2+(6-4)x-8=0$$

$$\text{or, } 3x^2+6x-4x-8=0$$

$$\text{or, } 3x(x+2)-4(x+2)=0$$

$$\text{or, } (x+2)(3x-4)=0$$

Either,

$$x+2=0$$

$$\therefore x=0-2=-2$$

$$\text{Or, } 3x-4=0$$

$$\text{or, } 3x=0+4=4$$

$$\therefore x=\frac{4}{3}$$

f) $2x^2+x-15=0$

→ Soln

$$2x^2+x-15=0$$

$$\text{or, } 2x^2+(6-5)x-15=0$$

$$\text{or, } 2x^2 + 6x - 5x - 15 = 0$$

$$\text{or, } \cancel{2x^2} 2x(x+3) - 5(x+3) = 0$$

$$\text{or, } (x+3)(2x-5) = 0$$

Either,

$$x+3 = 0$$

$$\therefore x = 0 - 3 = -3$$

$$\text{Or, } 2x - 5 = 0$$

$$\text{Or, } 2x = 0 + 5 = 5$$

$$\text{Or, } x = \frac{5}{2}$$

$$\therefore x = \frac{5}{2}$$

#



[In Next Ex. Book]



Continued from Ex-24(V) No. 5 (g)

5 (g) $4x^2 + 9x + 2 = 0$

→ Solⁿ,

$$4x^2 + 9x + 2 = 0$$

$$\text{or, } 4x^2 + (8+1)x + 2 = 0$$

$$\text{or, } 4x^2 + 8x + x + 2 = 0$$

$$\text{or, } 4x(x+2) + 1(x+2) = 0$$

$$\text{or, } (x+2)(4x+1) = 0$$

Either,

$$x+2=0$$

$$\therefore x = 0-2 = -2$$

Or,

$$4x+1=0$$

$$\text{or, } 4x = 0-1 = -1$$

$$\therefore \text{or, } x = \frac{-1}{4}$$

5/h $5x^2 + 6x + 1 = 0$

→ Solⁿ Here,

$$5x^2 + 6x + 1 = 0$$

$$\text{or, } 5x^2 + (5+1)x + 1 = 0$$

$$\text{or, } 5x^2 + 5x + x + 1 = 0$$

$$\text{or, } 5x(x+1) + 1(x+1) = 0$$

$$\text{or, } 5(x+1)(x+1) = 0$$

Either, $x+1=0$ ∴ $x=0-1=-1$	Or, $5x+1=0$ Or, $5x=0-1=-1$ ∴ $x = \frac{-1}{5}$
---	--

i) $2x^2+11x+15=0$

→ Soln,

$$2x^2+11x+15=0$$

or, $2x^2+(6+5)x+15=0$

or, $2x^2+6x+5x+15=0$

or, $2x(x+3)+5x(x+3)=0$

or, $(x+3)(2x+5)=0$

Either, $x+3=0$ ∴ $x=0-3=-3$	Or, $2x+5=0$ or, $2x=0-5=-5$ ∴ $x = \frac{-5}{2}$
---	--

j) $2x^2-3x-14=0$

→

→ Soln,

$$2x^2 - 3x - 14 = 0$$

$$\text{or, } 2x^2 - (\cancel{7-4})x - 14 = 0$$

$$\begin{array}{r} 14 \\ \times 2 \\ \hline 28 \end{array}$$

$$\text{or, } 2x^2 - 4x + 7x - 14 = 0$$

$$\text{or, } 2x(x-2) + 7(x-2) = 0$$

$$\text{or, } (x-2)(2x+7) = 0$$

Either,

$$x-2=0$$

$$\therefore x = 0+2$$

Or,

$$2x+7=0$$

$$\text{or, } 2x = 0-7 = -7$$

$$\therefore x = \frac{-7}{2}$$

k) $6x^2 - 7x - 10 = 0$

→ Soln,

$$6x^2 - 7x - 10 = 0$$

$$\text{or, } 6x^2 - (12-5)x - 10 = 0$$

$$\text{or, } 6x^2 - 5x + 12x - 10 = 0$$

$$\text{or, } x(6x-5) + 2(6x-5) = 0$$

$$\text{or, } (6x-5)(x+2) = 0$$

Either,

$$6x-5=0$$

$$\text{or, } 6x = 0+5 = 5$$

$$\therefore x = \frac{5}{6}$$

Or,

$$x+2=0$$

$$\therefore x = 0-2 = -2$$

$$5x^2 - 6x - 8 = 0$$

Soln

$$5x^2 - 6x - 8 = 0$$

$$\text{or, } 5x^2 - (10 - 4)x - 8 = 0$$

$$\text{or, } 5x^2 - 10x + 4x - 8 = 0$$

$$\text{or, } 5$$

$$\text{or, } 5x^2 - 4x + 10x - 8 = 0$$

$$\text{or, } x(5x - 4) + 2(5x - 4) = 0$$

$$\text{or, } (5x - 4)(x + 2) = 0$$

Either,

$$5x - 4 = 0$$

$$\text{or, } 5x = 0 + 4 = 4$$

$$\therefore x = \frac{4}{5}$$

Or,

$$x + 2 = 0$$

$$\therefore x = 0 - 2 = -2$$

$$7x^2 - 18x + 8 = 0$$

Soln

$$7x^2 - 18x + 8 = 0$$

$$\text{or, } 7x^2 - (14 + 4)x + 8 = 0$$

$$\text{or, } 7x^2 - 14x - 4x + 8 = 0$$

$$\text{or, } 7x(x - 2) - 4(x - 2) = 0$$

$$\text{or, } (x - 2)(7x - 4) = 0$$

Either,

$$x-2=0$$

$$\therefore x = 0+2=2$$

Or,

$$7x-4=0$$

$$\text{or, } 7x = 0+4=4$$

$$\therefore x = \frac{4}{7}$$

##

n. $9x^2 = 5+12x$

→ Soln

$$9x^2 = 5+12x$$

$$\text{or, } 9x^2 - 12x - 5 = 0$$

$$\text{or, } 9x^2 - (15-3)x - 5 = 0$$

$$\text{or, } 9x^2 - 15x + 3x - 5 = 0$$

$$\text{or, } x(9x-15)+1(3x-5)=0$$

$$\text{or, } 3x(3x-5)+1(3x-5)=0$$

$$\text{or, } (3x-5)(3x+1)=0$$

Either,

$$3x-5=0$$

$$\text{or, } 3x-5=0=0+5=5$$

Or,

$$3x-1=0$$

$$\text{or, } 3x=1$$